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Answer the following questions:

Q:[16 Marks]
1- For the circuit shown in figure 1,wL>>R, R=100, and a=30"
a- Draw v, v, vg, v, I, I, I;, and ipg.

i
b- Find the average value of v,, and i,. y

c- Find the rms value of i, i), and ip,. s : kA \: ‘
d- Find P, PF, f,, . —— *E ' ‘v
{=60Hz - +*
2- If a FWD is added to the circuit: A
a- Draw i, i,, i}, and ip,. D, 04 - . Q
b- Find the rms value of i, i;, and ip,.
Fig. 1
Q2:[11 Marks]
For the circuit shown in figure2,v,=150sin 2250t [V], R=10%2, and a=60"
a- Draw v, v, vy, I, I, andir. Ve
b- Find the average value of v,, and #,.
c- Find the average and rms value ofir.
d- Find P, f;, and PIV for each thyristor.
e- Draw the same circuit type using 2 diodes
and 2 thyristors.
Fig. 2
)\

@ :[13 Marks]
a-For the circuit shown in figure 3,V;= 200V, R=50%2, T=20msec, and the voltage

drop on MOSFETV,= 3V. Find the efficiency 1. _r—-——j
T ik
o[l

b- If the output power P=194W, find k, Ty, draw vg, Y

and find the average value of Ip. L
-Vt
c- Draw the circuit of the single phase bridge inverter. Flg 3
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